WEAVER BASIN FUEL BREAK PROJECT FOR TRINITY COUNTY RESOURCE CONSERVATION DISTRICT

BID FORM:

ITEM NO.	DESCRIPTION	Cost Per Acre	TOTAL COST
Unit 1: 74 acres	Hand cut, pile, and cover	\$1,395.00	\$103,230.00
Unit 2: 9.9 acres	Hand cut, pile, and cover	\$1,395.00	\$13,810.50

The Total Bid shall be generated from the above bid items by adding together the total amount for each bid item. The sum of all the bid item amounts shall be the bidder's bid and inserted, both in words and numerically, in this section.

Total Bid Schedule

\$_____ Total Bid Schedule written in words:

One Hundred Seventeen Thousand Forty Dollars and Fifty Cents (\$117,040.50)

Bidder hereby acknowledges that Addenda Numbers <u>N/A</u> are included with this Bid.

WEAVER BASIN FUEL BREAK PROJECT FOR TRINITY COUNTY RESOURCE CONSERVATION DISTRICT

BID FORM:

ITEM NO.	DESCRIPTION	Cost Per Acre	TOTAL COST
Unit 1: 74 acres	Hand cut, pile, and cover	\$819.00	\$60,606.00
Unit 2: 9.9 acres	Hand cut, pile, and cover	\$819.00	\$8,108.10

The Total Bid shall be generated from the above bid items by adding together the total amount for each bid item. The sum of all the bid item amounts shall be the bidder's bid and inserted, both in words and numerically, in this section.

Total Bid Schedule \$68,714.10

§ ____ Total Bid Schedule written in words:

Sixty Eight Thousand Seven Hundred Fourteen and Ten Cents.

Bidder hereby acknowledges that Addenda Numbers_____are included with this Bid.

WEAVER BASIN FUEL BREAK PROJECT FOR TRINITY COUNTY RESOURCE CONSERVATION DISTRICT

BID FORM:

ITEM NO.	DESCRIPTION	Cost Per Acre	TOTAL COST
Unit 1: 74 acres	Hand cut, pile, and cover	\$2,800	\$ 207,200
Unit 2: 9.9 acres	Hand cut, pile, and cover	\$ 3,100	430,690

The Total Bid shall be generated from the above bid items by adding together the total amount for each bid item. The sum of all the bid item amounts shall be the bidder's bid and inserted, both in words and numerically, in this section.

Total Bid Schedule **237, 890** \$ _____ Total Bid Schedule written in words:

Tuo hundred thirty seven thousand eight hundred ninety

Bidder hereby acknowledges that Addenda Numbers_____are included with this Bid.

WEAVER BASIN FUEL BREAK PROJECT FOR TRINITY COUNTY RESOURCE CONSERVATION DISTRICT

BID FORM:

ITEM NO.	DESCRIPTION	Cost Per Acre	TOTAL COST
Unit 1: 74 acres	Hand cut, pile, and cover	\$2,850.00	\$210,900.00
Unit 2: 9.9 acres	Hand cut, pile, and cover	\$2,850.00	\$28,215.00

The Total Bid shall be generated from the above bid items by adding together the total amount for each bid item. The sum of all the bid item amounts shall be the bidder's bid and inserted, both in words and numerically, in this section.

Total Bid Schedule \$239,115.00 \$_____Total Bid Schedule written in words:

Two hundred thirty nine thousand and one hundred fifteen dollars

Bidder hereby acknowledges that Addenda Numbers <u>1- Field Tour</u> are included with this Bid.

Photos